g #E 8 | %
202343 A31H8RE
T ACOB#EkA=t
HAr (FMH)
& E 0 8 BE - MEEOR
e B & #& A B & %8
| 7t 8 & E (62,498)| | 7 & & & (12,931)
B £ &k O A % 49,462 * E7N b= A 4,037
55 H & 10,497 X OHOE AN OBOF 4,577
+ E3) &R 656 8 D) % 181
B A = A 645 g 5 5| & 3,583
% ) 1o 1,236 z ) b 551
I E & E (59,502)
1. BFREEEE 59,161
# ) 4,765 | Il T B & (33,142)
% A ) 6 B B OB 5 5 & % 33,142
1 1 - B 144
E W E #® B 0
I B2 % B 5 & 86 BfEAE 46,074
+ b 54158 |1 % * & &K
g X = 10,000
2.EBEETEEE 201 |1 M %2 B R £
z D b 291 ZOoMmMBERHRE
I | - S 65,925
3.8EZ0MOEE 50
53 » ftb 50
B E A G 75,925
& E & &t 122,000 afE - MBESE 122,000

XEEHSHIITFARGZ VBT TRRLTEY £7,




